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I is not strong. The individual’s demands are as
important as the motherland’s. 1T is weak because
of its complacent attitude.

I is not strong because instead of giving a reason,
it adds a further clause. II is strong because
discipline plays a major role in an educational
nstitution.

Clearly, reservations on communal basis will
increase inter-communal biases. So, argument [
is vague. Also it will be against the secular policy,
according to which no communal group is given

preference over the others. So, only argument
1T helds.

Clearly, taxes on an item cannot be ncreased or
decreased on the basis of the financial position
of the people who buy it. So, both arguments [
and IT do not hold strong.

Explanation: Clearly, the variety of news helps
people to develop their own views. So, argument
1 1s vague. Also, controlled news shall be a partial
produce. So, it loses credibility, Thus, argument
1T holds.

Explanation: (a) hike in fees 15 no means to
make the students more serious in studies. So,
argument [ is vague. However, with the increase
in fees, poor meritorious students would not be
able to afford post-graduate studies. So,
argument IT holds.

Explanation: Clearly, mechanization would
speed up the work and increase the production.
So, argument 1 is strong enough. Argument 1T is
vague because mechanization will only eliminate
wasteful employment, not create unemployment.

Explanation: Clearly, indulgement in politics
trains the students for future leadership but It
swavs them from the studies. So, either of the
arguments I or II can hold.

Explanation: The opinion polls may influence
the thinking of an individual and thus divert his

mind from his original choice. Sg, argument I
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holds strong, Further, blindly imitating a policy
followed by other countries holds no relevance.
So, argument IT is vague.

Explanation: Clearly, refugees are people forced
out of their homeland by some misery and need
shelter desperately. So, argument 11 holds.
Argument [ against the statement is vague.

Explanation: (a) doctor treating a patient
individually can mislead the patient into wrong
and unnecessary treatment for his personal gain.
So, argument II holds strong. Also, a policy
beneficial to common people cannot be termed
‘undemocratic’. So, Lis vague.

Explanation: Clearly, persons with criminal
background' cannot stand to serve as the
representatives of the common people. So, they
should not be allowed to contest elections. Thus,
only argument 1 holds, while II does not.

Explanation: Clearly, argument I holds strong,
while argument 11 is vague.

Explanation: Clearly, the luxury hotels are a mark
of country’s standard and a place for staying for
the affluent foreign tourists. So, argument II
holds. Argument I is not a strong reason because
ban on hotels is not a way to do away with the
activities of intemational criminals.

Explanation: Parents indulging in sex
determination of their unbom child generally do
so as they want to only a boy child and do away
with a girl child. So, argument I holds. Also,
people have a right to know only about the health,
development and general well-being of the child
before its birth, and not the sex. So, argument 11

does not hold strong.

Explanation: Clearly, with so many people
around 1n a joint family, there 1s more security.
Also, work is shared. So, argument I holds. In
nuclear families, there are lesser number of
people and so lesser responsibilities and more
freedom. Thus, II also holds.
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Explanation: Clearly, it is the advertisement
which makes the customer aware of the qualities
of the product and leads him to buy it. So,
argument [ is valid. But at the same time,
advertising nowadays has become a costly affair
and the expenses on it add to the price of the
product. So, argument 1T also holds strong.

Explanation: Taking care of the parents is a
moral duty of the children and cannot be thrust
upon them legally, nor such a compulsion can
ensure good care of the old people. So, none of
the arguments holds strong.

Explanation: Clearly, Indianeeds to have military
force to defend itself against the threat of other
military powers in the world. So, none of the
arguments holds strong.

Explanation: Family planning is an essential step
to curb population growth. So, argument I holds
strong. Also, family planning being against the
tenets of some of the Indian religions, it is not
necessary to make it compulsory. Instead, 1t can
be enforced by creating public awareness of the
benefits of family planning. So, argument IT also
holds.

Explanation: Abolishing the import duty on
electronic goods shall reduce the costs of
imported goods and adversely affect the sale of
the domestic products, thus giving a setback to
the Indian electronies industry. | So, argument 11
holds strong.«Argument [ does not provide a
convineing reason.

Explanation: Religion binds people together
through the name of God and human values. But
at the same time it may create differences and
ill-will among people. So, either of the arguments
holds strong.

Explanation: Clearly, besides interview, there
can be other modes of written examination to
judge candidates’ motives. So argument IT is not
strong enough. However, the interview is a
subjective assessment without doubt. So,
argument [ holds.

Explanation: Clearly, after being in strict
discipline and following a formal dress code of
the school for so many years, the students must
be granted some liberty in college life, as they
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have to take on the responsibilities of life, next.
Besides, schools adopt uniforms to take care of
the security of the child - an aspect which doesn’t
matter much in the colleges. So, argument 11
holds strong. Also, the environment of the college
depends on the students’ dedication and etiquettes
and not on their uniforms. So, argument I is
vague.

Explanation: Both the arguments are strong
enough. The conditions have to be agreed to, in
order to save the life of the victims, though
actually they ought not to be agreed to, as they
encourage the sinister activities of the kidnappers.

Explanation: Clearly, government jobs in rural
areas are underlined with several difficulties. In
lieu of these, extra incentives are needed. So,

only argument 1 holds strong.

Explanation: Nowadays, computers have
entered all walks of life and children need to be
prepared for the same. So, argument I1 is strong.
Argument T holds no relevance.

Explanation: Clearly, argument 1 gives a reason
m support of the statement and so it does not
hold strong against it. The adult education
programme needs to be given priority because it
shall eliminate adult illiteracy and thus help in
further spread of education. So, only argument
1T is strong enough.

Explanation: Closing down public-sector
enterprises will definitely throw the engaged
persons out of employment. So, argument [
holds. Also, closing down is no solution for a
loss-making enterprise. Rather, its causes of
failure should be studied, analyzed and the
essential reforms implemented. Even if this does
not work out, the enterprise may be privatized.

So, argument 11 1s vague,

Explanation: The demolition of unauthorized
buildings would teach a lesson to the
unscrupulous builders and also serve as a
warning for the citizens not to indulge in such
activities in the future. This 1s essential, as
unauthorized constructions impose undue burden
on the city’s infrastructure. So, only argument
1T holds strong,
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31. (a) Explanation: Clearly, the autonomous status of
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the Doordarshan will be a step towards giving it
independence for an impartial coverage.
Autonomous status does not mean that the
coverage will be decided by a few. So, only
argument I holds.

Explanation: Clearly, at the college level, all the
students are assessed according to their
performance in the University Exams and not on
the basis of any criteria of a more intimate dealings
with the students. So, argument I is vague. Also,
at this level the awarding of degrees is impartial
and simply based on his performance. So,
argument 1 also does not hold.

Explanation: Abolishing the intemal assessment
would surely reduce favouritism on personal
grounds because the teachers would not be
involved in examination system so that they cannot
extend personal benefits to anyone. So, argument
I holds strong. But it will not affect the control
of teaching faculty on students because still the
teachers would be teaching them. So, argument
1T is vague.

Explanation: The age of a person is no criterion
for judging his mental capabilities and
administrative qualities. So, none .of the
arguments holds strong,

Explanation: Clearly, | does not provide a strong
reason in support of‘the statement:"Also; it is not
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possible to analyze the really deserving and not
deserving. So/argument 11 holds strong,

Explanation: Clearly, cottage industries need to
be promoted to create more job opportunities for
rural people in the villages themselves. The reason
that rural people are creative is vague. So, only
argument 11 holds.

Explanation: Clearly, argument 1 1s vague
because at present too, many fields are open to
all after graduation. However, eliminating the
post-graduate courses would abolish higher and
specialized studies which lead to understanding
things better and deeply. So, argument 11 1s valid.

Explanation: Clearly, India cannot part with a
state that 1s a major foreign exchange earner to
it. So, argument 1 holds strong. Further, giving
away a piece of land unconditionally and
unreasonably is no solution to settle disputes. So,
argument II is vague.

Explanation: Shuffling of Cabinet ministers is
just not aregular process, but a step to ensure
proper. working and implementation of schemes
and avoid corruption. So, none of the arguments
holds strong.

Explanation: Learning martial arts is necessary
for girls for self-defense. So, argument I holds.
However, argument I1 is vague since a training
in these arts has nothing to do with their feminine
grace.




